

INTEGRAL GENERALIZED MEANS

GHEORGHE TOADER

Abstract. Generalizing the integral representation of the arithmetic-geometric mean, some authors characterized more means by integrals. In this paper we extend a modified method used by Y.-H. Kim to construct generalized means.

1. Introduction

Let us denote

$$r_{n,\theta}(a, b) = (a^n \cos^2 \theta + b^n \sin^2 \theta)^{1/n}, \quad n \neq 0$$

and

$$r_{0,\theta}(a, b) = \lim_{n \rightarrow 0} r_{n,\theta}(a, b) = a^{\cos^2 \theta} b^{\sin^2 \theta}.$$

As was proved in [9], if $p : \mathbf{R}_+ \rightarrow \mathbf{R}$ is a strictly monotonic function, then

$$M_{p,n}(a, b) = p^{-1} \left(\frac{1}{2\pi} \int_0^{2\pi} p(r_{n,\theta}(a, b)) d\theta \right)$$

defines a symmetric mean. A well known example is given by the arithmetic-geometric mean of Gauss (see [2]), where $n = 2$ and $p(x) = x^{-1}$. H. Haruki considered in [4] an arbitrary p (also for $n = 2$). Then the values $n = -1$ and $n = 1$ where studied in [5] and [6]. The general case (of arbitrary n) was studied in [9] and then in [10] and [12].

In [13] is considered the expression

$$H_{p,n}(a, b) = \frac{1}{H(a, b)} \cdot p^{-1} \left(\frac{1}{2\pi} \int_0^{2\pi} p(r_{2n,\theta}^2(a, b)) d\theta \right).$$

For $n = \pm 1$ it was already studied in [7]. This is a generalized mean not a mean. In this paper we shall replace the mean H by an arbitrary generalized mean. We shall study the same problems as those from [7], [9], [10], [12] and [13].

Mathematics subject classification (2000): 26E60.

Key words and phrases: generalized mean, arithmetic-geometric mean, integral mean.

2. Means and generalized means

A *mean* is defined usually as a function $M : \mathbf{R}_+^2 \rightarrow \mathbf{R}_+$ which has the property

$$\min(a, b) \leq M(a, b) \leq \max(a, b), \forall a, b \geq 0.$$

Of course, each mean M is *reflexive*. Sometimes this weaker condition is taken as a definition of means (see [1]). We call it a generalized mean. Thus, by *generalized mean* we understand a function $M : \mathbf{R}_+^2 \rightarrow \mathbf{R}_+$ with the property

$$M(a, a) = a, \forall a \geq 0.$$

A (generalized) mean is called *symmetric* if

$$M(b, a) = M(a, b), \forall a, b \geq 0.$$

In what follows we shall use weighted power means $P_{n,\lambda}$ defined by

$$P_{n,\lambda}(a, b) = \begin{cases} [\lambda \cdot a^n + (1 - \lambda) \cdot b^n]^{1/n}, & n \neq 0 \\ a^\lambda \cdot b^{1-\lambda}, & n = 0 \end{cases},$$

with $\lambda \in [0, 1]$ fixed. For $\lambda = 1/2$ we get the (symmetric) power means $P_n = P_{n,1/2}$. The most important special cases are the arithmetic mean $A = P_1$, the geometric mean $G = P_0$, and the harmonic mean $H = P_{-1}$.

We can compose three (generalized) means M , N and P obtaining the (generalized) mean $M(N, P)$ given by

$$M(N, P)(a, b) = M(N(a, b), P(a, b)), \forall a, b \geq 0.$$

We shall use in what follows the mean Q defined in [7] by

$$Q(a, b) = \left(\frac{3}{4} \cdot \frac{a^4 + b^4}{2} + \frac{a^2 b^2}{4} \right)^{1/4},$$

that is

$$Q = P_{4,3/4}(P_4, G).$$

3. An integral generalized mean

Given an arbitrary generalized mean N and a bijection p , let us consider the expression

$$N_{p,n}(a, b) = \frac{1}{N(a, b)} \cdot p^{-1} \left(\frac{1}{2\pi} \int_0^{2\pi} p(r_{2n,\theta}^2(a, b)) d\theta \right).$$

If we denote $q(x) = p(x^2)$, we get

$$N_{p,n} = M_{q,2n}^2 / N$$

thus it is a generalized mean. The question is when it reduces at a given (generalized) mean R . If we denote

$$f(a, b; p, n) = \frac{1}{2\pi} \int_0^{2\pi} p(r_{2n, \theta}^2(a, b)) d\theta,$$

the condition $N_{p,n} = R$ can be written as

$$f(a, b; p, n) = p(N(a, b) \cdot R(a, b)). \tag{1}$$

By direct computation, as in [9] we can prove the following

LEMMA 1. *If p has a continuous second order derivative, then f has the following partial derivatives*

$$f''_{a^2}(c, c; p, n) = [3c^2p''(c^2) + (n + 1)p'(c^2)]/2$$

and

$$f''_{ab}(c, c; p, n) = [c^2p''(c^2) - (n - 1)p'(c^2)]/2,$$

where c is an arbitrary positive number.

Using it we can prove

THEOREM 1. *If $N_{p,n} = R$ then p satisfies the differential equations*

$$c^2p''(c^2) \left\{ 3 - 2 [N'_a(c, c) + R'_a(c, c)]^2 \right\} + p'(c^2) \cdot \{ n + 1 - 2c [N''_{a^2}(c, c) + R''_{a^2}(c, c)] - 4N'_a(c, c)R'_a(c, c) \} = 0 \tag{2}$$

and

$$c^2p''(c^2) \left\{ 1 - 2 [N'_a(c, c) + R'_a(c, c)] [N'_b(c, c) + R'_b(c, c)] \right\} + p'(c^2) \cdot \{ 1 - n - 2c [N''_{ab}(c, c) + R''_{ab}(c, c)] - 2[N'_a(c, c)R'_b(c, c) + N'_b(c, c)R'_a(c, c)] \} = 0. \tag{3}$$

Proof. We calculate the partial derivatives of order two with respect to a of both members of the relation (1). We get

$$f'_a(a, b; p, n) = p'(N(a, b) \cdot R(a, b)) \cdot [N'_a(a, b) \cdot R(a, b) + N(a, b) \cdot R'_a(a, b)]$$

and then

$$f''_{a^2}(a, b; p, n) = p''(N(a, b) \cdot R(a, b)) \cdot [N'_a(a, b) \cdot R(a, b) + N(a, b) \cdot R'_a(a, b)]^2 + p'(N(a, b) \cdot R(a, b)) \cdot [N''_{a^2}(a, b) \cdot R(a, b) + 2N'_a(a, b) \cdot R'_a(a, b) + N(a, b) \cdot R''_{a^2}(a, b)].$$

For $a = b = c$, taking into account the lemma, we obtain

$$[3c^2p''(c^2) + (n + 1)p'(c^2)]/2 = p''(c^2) \cdot c^2 \cdot [N'_a(c, c) + R'_a(c, c)]^2 + p'(c^2) \cdot [N''_{a^2}(c, c) \cdot c + 2 \cdot N'_a(c, c) \cdot R'_a(c, c) + c \cdot R''_{a^2}(c, c)]$$

which gives (2). In a similar way we can prove (6). \square

As it is proved in [11] we have the following

LEMMA 2. If N is a symmetric generalized mean then

$$N'_a(c, c) = 1/2 \quad (4)$$

and

$$N''_{ab}(c, c) = -N''_{a^2}(c, c). \quad (5)$$

REMARK 1. The relation (4) was proved for a symmetric mean N in [3].

THEOREM 2. If $N_{p,n} = R$, where N and R are symmetric generalized means, then p satisfies the differential equation

$$c^2 p''(c^2) + p'(c^2) \{n - 2c [N''_{a^2}(c, c) + R''_{a^2}(c, c)]\} = 0. \quad (6)$$

Proof. Using (4) and (2) we get (6). Taking into account (5), (3) also reduces at (6). \square

THEOREM 3. If $H_{p,n} = R$, where R is a symmetric generalized mean, then p satisfies the differential equation

$$c^2 p''(c^2) + p'(c^2) \cdot [n + 1 - 2cR''_{a^2}(c, c)] = 0. \quad (7)$$

Proof. We have

$$H''_{a^2}(c, c) = -\frac{1}{2c}$$

thus (6) reduces at (7). \square

REMARK 2. In [11] it is shown that most of the symmetric generalized means verify the hypotheses of the following

THEOREM 4. If $N_{p,n} = R$ where N and R are symmetric generalized means such that

$$R''_{a^2}(c, c) = \frac{\alpha}{c}, \quad N''_{a^2}(c, c) = \frac{\beta}{c} \quad \text{with } \alpha + \beta \neq \frac{n}{2},$$

then

$$p(x) = A \cdot x^{2\alpha+2\beta-n+1} + B,$$

where A and B are arbitrary constants.

Proof. The equation (3) becomes in this case

$$c^2 p''(c^2) + p'(c^2) \cdot (n - 2\alpha - 2\beta) = 0.$$

Denoting $c^2 = x$ and $p' = z$ we get the equation

$$x \cdot z'(x) + (n - 2\alpha - 2\beta) \cdot z(x) = 0$$

with the solution

$$z(x) = D \cdot x^{2\alpha+2\beta-n},$$

which, by integration, gives the expression of p . \square

In the special case $N = H$ we have

THEOREM 5. If $H_{p,n} = R$ where R is a symmetric generalized mean and

$$R''_{a^2}(c, c) = \frac{\alpha}{c}, \text{ with } \alpha \neq \frac{n+1}{2},$$

then

$$p(x) = A \cdot x^{2\alpha-n} + B,$$

where A and B are arbitrary constants.

REMARK 3. For $n = \pm 1$ the last theorem gives the results from [7]. There it is proved also that in these cases the conditions are sufficient, thus we get the integral representation of the following generalized means:

$$M_1 = A \left(\frac{G}{P_2} \right)^2, \quad M_2 = A \left(\frac{G}{Q} \right)^2, \quad M_3 = A \frac{P_2}{G}, \quad M_4 = A \left(\frac{P_2}{G} \right)^2,$$

$$M_5 = A \left(\frac{A}{G} \right)^2, \quad M_6 = A \frac{G}{P_2}, \text{ and } M_7 = A \left(\frac{Q}{G} \right)^2.$$

In [11] it is shown that all these generalized means satisfy the conditions of the last theorem with the following values of α :

R	A	H	M ₁	M ₂	M ₃	M ₄	M ₅	M ₆	M ₇
α	0	$-\frac{1}{2}$	-1	$-\frac{3}{2}$	$\frac{1}{2}$	1	$\frac{1}{2}$	$-\frac{1}{2}$	$\frac{3}{2}$

REMARK 4. For arbitrary n , we get the results from [13] where $R = P_q$. Using the values of α for other means N and R , we get new results.

REFERENCES

[1] J. ACZÉL, L. LOSONCZI, Z. PÁLES, *The behaviour of comprehensive classes of means under equal increments of their variables*, Gen. Ineq. 5, Oberwolfach 1986, Internat. Sem. Numer. Math. **80** (1987), 459–461.
 [2] P. S. BULLEN, D. S. MITRINOVIĆ, P. M. VASIĆ, *Means and Their Inequalities*, Reidel, Dordecht, 1988.
 [3] D. M. E. FOSTER, G. M. PHILLIPS, *A generalization of the archimedean double sequence*, J. Math. Anal. Appl. **101** (1984), 575–581.
 [4] H. HARUKI, *New characterizations of the arithmetic-geometric mean of Gauss and other well-known mean values*, Publ. Math. Debrecen **38** (1991), 323–332.
 [5] H. HARUKI, T. M. RASSIAS, *New characterizations of some mean-values*, J. Math. Anal. Appl. **202** (1996), 333–348.
 [6] H. HARUKI, T. M. RASSIAS, *A new analogue of Gauss' functional equation*, Internat. J. Math. & Math. Sci. **18** (1995), 749–756.
 [7] Y.-H. KIM, *On some further extensions of the characterizations of mean values by H. Haruki and Th. M. Rassias*, J. Math. Anal. Appl. **235** (1999), 2, 598–607.
 [8] G. TOADER, *Some remarks on means*, Anal. Numèr. Théor. Approx. **29** (1991), 1–2, 97–109.
 [9] G. TOADER, *Some mean values related to the arithmetic-geometric mean*, J. Math. Anal. Appl. **218** (1998), 358–368.
 [10] G. TOADER, T. M. RASSIAS, *New properties of some mean values*, J. Math. Anal. Appl. **232** (1999), 376–383.
 [11] SILVIA TOADER, *Derivatives of generalized means* Math. Ineq. Appl. **5** (2002), 3 (to appear).

- [12] S. TOADER, T. M. RASSIAS, G. TOADER, *A Gauss type functional equation*, Internat. J. Math. Math. Sc. **25** (2001), 9, 565–569.
- [13] J.-S. UME, Y.-H. KIM, *Some mean values related to the quasi-arithmetic mean*, J. Math. Anal. Appl. **252** (2000), 1, 167–176.

Gheorghe Toader

Affiliation:

*Department of mathematics, Technical university
RO-3400, Cluj-Napoca, Romania*

Current address:

Str. Peana, Nr. 3, Ap. 47

RO-3400, Cluj-Napoca, Romania

e-mail: Gheorghe.Toader@math.utcluj.ro